Intermediate 1 Units 1,2 Calculator Revision

1. An insurance company charges these rate, per year, to insure valuables.
	Value of item
	Amount per £1000

	Up to £6000


	  £5.36

	Over £6000


	  £6.42


          Julie has an expensive painting which is valued at £7000.

          How much would she have to pay to insure it?

2. Joanne was given £5000 by her grandmother. She deposited the money in the bank which paid 3.5% interest per annum.

After 6 months she withdrew the interest to buy a camera which cost £90.
Did she have enough interest to pay for her camera? You should show all your working and give a reason for your answer.

3. Keiran is going to visit a friend who lives 255km away. He leaves home at 10.30am. He travels at an average speed of 60km/h. At what time will he arrive at his friend’s house?

4. In a school there are 1420 pupils. 1130 of them own a mobile phone. What percentage of the pupils own a phone? Give your answer correct to 1 decimal place.

5.     The volume of this cuboid is 350cm3. What is the height of the cuboid?
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6.   Shannon went to Florida on holiday for 6 days. When he left he exchanged £150 into dollars. The rate of exchange was £1 = $1.64. How many dollars did he receive.
While he was there he spent $30 each day.

When he returned he exchanged the remaining money back to pounds. The rate of exchange when he returned was £1 = $1.42. 

The bank charged him 4% commission to exchange the dollars. How much did he receive. Give your answer to the nearest penny.
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As  part of their company logo the Cordon Bleu 

Catering Company uses two circular shapes. 

The larger circle has a radius of 25 cm and 

the smaller has a radius of 16 cm. 

Calculate the area of the shaded part.
7. Calculate the length of the sloping side x.
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8. A window is a rectangle with a semicircular top. Calculate the total area of the glass.
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9.       BROCH ELECTRICITY company charges are:-
Standing charge       £9.50

Each unit                        8p
Calculate the total bill:
Standing charge

£





3560 units @8p each
£









________






Sub-total

£





    VAT @17.5%

£






   


________







TOTAL
£
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